SAT Review: Table/Graph Analysis
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Roof type

?lfmfe‘ Shake [ S0 | qoral

Single story | 9 4 2 15
"Two story 20 10 3 33
Total 29 14 5 48

“The table above shows the distribution of single-story
and two-story houses In a nelghborhood classified
according to roof type. If one of the houses Is selected
at random, what is the probability that it will be a
single-story house with a slate roof?
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‘The velocity v, in meters pel

r second, of a falling

object on Earth after f seconds, Ignoring the effect
of air reslstance, is modeled by the equation v=9.8t.
There Is a different linear relationship between time
and velocity on Mars, as shown in the table below.

Time (seconds) Velocng;:nsel\c/l;; ()memxs
0 0
4 148
8 296

Ifan object dropped toward the surface of Earth has
avelocity of 58.8 meters per second after f seconds,
what would be the velocity of the same object

dropped toward the surface

of Mars after  seconds,

ignoring the effect of alr resistance?

A) 15.9 meters per second
B) 22.2 meters per second
C) 36.2 meters per second
D) 88.8 meters per second
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Questions 10-12 refer to the following information.
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‘The line graph above shows the average price of one
metric ton of oranges, In dollars, for each of seven
months in 2014 teachal.cn.

10

Between which two consecutive months shown
did the average price of one metric ton of oranges
decrease the most?

A) March to April

B) Mayto June

C) June to July

D) July to August

Which of the following Is closest to the median price,
in dollars, of the seven recorded prices of one metric
ton of oranges?

A) 834

B) 808

C) 783

D) 768

In 2014, the average price of one metric ton of
oranges decreased by 2.36% from January (not
shown) to February. Which of the following s closest
to the price of one metric ton of oranges in January
20147

A) 700

B) 770

<) 790

D) 830
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‘The scatterplot above shows the total number of
‘home runs hit in major league baseball, in ten-year
intervals, for selected years. The line of best fit for the
data is also shown. Which of the following is closest
to the difference between the actual number of home
runs and the number predicted by the line of best fit
1n 20037
A) 250
B) 500
C) 750
D) 850
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‘The number of people who rode a certain bus each
day of a week Is shown In the table below.

Day Number of riders
Monday 612
Tuesday 798

Wednesday 655
Thursday 773

Friday 808
Saturday 480
Sunday 229

‘Which of the following is true based on these data?

A) The bus had the most riders on Tuesday.

B) Each day from Tuesday through Sunday, the
number of riders on the bus was greater than the

previous day.

o

Each day from Tuesday through Sunday, the

number of riders on the bus was less than the

previous day.
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‘The two days with the fewest number of riders

were Saturday and Sunday.




